Fx TF TR IR

BifE B - 5 F1054E07 A09H SE—HYA FHhY)—H5T
IE6L | K % R OUT | IN | GR | HDCP | NET ] IEhL | K £ R OUT | IN | GR | HDCP | NET et
1 |W[R BhZE 43 | 44 | 87 | 15.5 | 71.5 |AE 3 |F M= 44 | 41 | 8 | 4.2 | 80.8
2 R FF 40 | 38 | 78 6.3 | 71.7 |AE 32 |mMa B 49 | 42 | 91 | 10.1 | 80.9
3 ER EH 4 | 44 | 90 | 16.9 | 73.1 |AE 33 |E5H # 43 | 48 | 91 | 10.0 | 81.0
4 |BIER F— 40 | 39| 79| 58| 732 |AE 34 IDE i 40 | 47 | 87 5.0 | 82.0
5 A &= 43 | 44 | 87 | 13.8 | 713.2 |AE 35 [BO MEXx 43 | 50 | 93 | 10.8 | 82.2
6 R R 45 | 40 | 8 | 11.3 | 73.7 |AE 36 |&kE R 45 | 48 | 93 | 10.3 | 82.7
1T FE —= 40 | 42 | 82 1.9 | 741 |AE 37 |EE % 49 | 45 | 94 | 11.1 | 82.9
8 |WTF B— 45 | 39 | 84| 9.6 | 4.4 |AE 38 |KIE F¥ 45 | 49 | 94 | 10.6 | 83.4
9 |Ed W& 45 | 44 | 89 | 14.6 | 74.4 \AE 39 | R® 49 | 45| 94 | 10.2 | 83.8
10 |5ki1 pEH 41 | 45| 86 | 11.3 | 747 |AE 40 BB E 50 | 45 | 95 | 10.9 | 84.1
1 B8 &R 47 | 40 | 87 | 11.5 | 75.5 |AE 41 |#ME Eh 54 | 46 [ 100 | 15.7 | 84.3
12 | FF 44 | 48 | 92 | 15.9 | 76.1 |AE 42 =% =R 46 | 50 | 96 | 10.9 | 85.1
13 | XKW #]IA 45 | 40 | 85| 8.8 | 76.2 |AE 43 ERF #HX 46 | 47 | 93 7.6 | 85.4
14 Ry &= 41 | 45 | 86 9.8 | 76.2 |AE 44 |;=H EREA 49 | 50 | 99 | 13.1 | 85.9
15 |0 EZ= 43 | 50 | 93 | 16.1 | 76.9 |AE 45 MR #K&F 51 | 53 [104 | 16.7 | 87.3
16 &Il &EE 43 | 41| 84| 6.9 | 7.1 |AE 46 |FH IE#H 51 | 50 [ 101 | 13.0 | 88.0
17 |l IEHE a1 | 41 82| 42| 718 47 =% ER 49 | 50 | 99 | 10.7 | 88.3
18 |%% M7 47 | 44 | 91 | 12.9 | 78.1 48 |EH = 47 | 53 [100 | 11.6 | 88.4
19 |RIE HEK 48 | 41 | 89 | 10.8 | 78.2 49 |iHE WMHEx 50 | 48 | 98 | 4.4 | 93.6
20 [ R&HIN O R= 44 | 41 | 85 6.3 | 78.7 50 |48 #HWH 50 | 59 [ 109 | 14.6 | 94.4
21 % #XH 43 | 45 | 88 9.3 | 18.7
22 ¥k iR 46 | 44 | 90 | 11.0 | 79.0
23 [Nl EEA 44 | 53 | 97 | 18.0 | 79.0
24 | 5% A 50 | 40 | 90 | 10.9 | 79.1
25 |BAF AR 43 | 44 | 87 7.8 | 79.2
26 =& BZ 43 | 46 | 94 | 14.6 | 79.4
21 &R =& 42 | 51 | 93 | 13.0 | 80.0
28 |HX EXE 51 | 43 | 94 | 13.6 | 80.4
29 #HE B 44 | 47 | 91 | 10.6 | 80.4
30 BB HF 44 | 47 | 91 | 10.5 | 80.5
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